

#### Kansas Corporation Commission Oil & Gas Conservation Division

#### 1053627

Form ACO-1

June 2009

Form Must Be Typed

Form must be Signed

All blanks must be Filled

## WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15
Name:	Spot Description:
Address 1:	SecTwpS. R
Address 2:	Feet from North / South Line of Section
City:	Feet from _ East / _ West Line of Section
Contact Person:	Footages Calculated from Nearest Outside Section Corner:
Phone: ()	□NE □NW □SE □SW
CONTRACTOR: License #	County:
Name:	Lease Name: Well #:
Wellsite Geologist:	Field Name:
Purchaser:	Producing Formation:
Designate Type of Completion:	Elevation: Ground: Kelly Bushing:
New Well Re-Entry Workover	Total Depth: Plug Back Total Depth:
Oil WSW SWD SIOW Gas D&A ENHR SIGW OG GSW Temp. Abd. CM (Coal Bed Methane) Cathodic Other (Core, Expl., etc.):	Amount of Surface Pipe Set and Cemented at: Feet  Multiple Stage Cementing Collar Used? Yes No  If yes, show depth set: Feet  If Alternate II completion, cement circulated from: sx cmt
Operator:	
Well Name:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth:  Deepening Re-perf. Conv. to ENHR Conv. to SWD  Conv. to GSW	Chloride content: ppm Fluid volume: bbls  Dewatering method used:
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Permit #:	Operator Name:
Dual Completion Permit #:	Lease Name: License #:
SWD Permit #:	Quarter Sec Twp S. R
☐ ENHR         Permit #:           ☐ GSW         Permit #:	County: Permit #:
Spud Date or Date Reached TD Completion Date or Recompletion Date Recompletion Date	

#### **AFFIDAVIT**

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

**Submitted Electronically** 

KCC Office Use ONLY
Letter of Confidentiality Received
Date:
Confidential Release Date:
Wireline Log Received
Geologist Report Received
UIC Distribution
ALT I I II Approved by: Date:

Side Two



Operator Name:			Lease Name	e:			_ Well #:			
Sec Twp	S. R	East West	County:							
time tool open and clos	sed, flowing and shut s if gas to surface tes	I base of formations per in pressures, whether set, along with final chart well site report.	shut-in pressure	reached s	static level,	hydrostatic press	sures, bottom h	ole temperature, fl		
Orill Stem Tests Taken (Attach Additional S		Yes No		Log	Formatio	n (Top), Depth an	d Datum	Sample		
Samples Sent to Geolo		N	lame			Тор	Datum			
Cores Taken Electric Log Run Electric Log Submitted (If no, Submit Copy)	I Electronically	Yes								
List All E. Logs Run:			RECORD [		Used					
	Size Hole	Report all strings set- Size Casing	-conductor, surface Weight		ate, producti Setting	on, etc.  Type of	# Sacks	Type and Percen		
Purpose of String	Drilled	,			Depth	Cement	Used	Additives		
		ADDITIONA	L OFMENTING (	00115575	DECORD					
		ADDITIONA	L CEMENTING / :	SQUEEZE	RECORD					
Purpose:  Perforate Protect Casing Plug Back TD Plug Off Zone	tect Casing g Back TD		# Sacks Used	Sed Type and Percent Additives						
Shots Per Foot		ON RECORD - Bridge Plu ootage of Each Interval Pe				cture, Shot, Cement mount and Kind of Ma	•	d Depth		
TUBING RECORD:	Size:	Set At:	Packer At:	Line	r Run:	Yes No				
Date of First, Resumed I	Production, SWD or ENI	HR. Producing Me	thod:	Gas Li	ift C	Other (Explain)				
Estimated Production Per 24 Hours	Oil E	Bbls. Gas	Mcf	Water	В	bls. (	Gas-Oil Ratio	Gravity		
DISPOSITIO	Used on Lease	Open Hole	METHOD OF COM	MPLETION: ually Comp omit ACO-5)	. Cor	nmingled mit ACO-4)	PRODUCTIO	ON INTERVAL:		
(If vented, Sub	mit ACO-18.)	Other (Specify) _								



PAGE	CUST NO	INVOICE DATE
1 of 1	1002993	11/03/2010
· · · · · · · · · · · · · · · · · · ·	TNVOTCE NUMB	DD.

1717 - 90448115

Liberal

(620) 624-2277

B OIL PRODUCER'S INC OF KANSAS

1 1710 WATERFRONT PKWY

L WICHITA

KS US

67206

o ATTN:

J LEASE NAME

Albert Bouziden #18-3

0 LOCATION В

COUNTY

Barber

S STATE

KS

T

JOB DESCRIPTION Cement-New Well Casing/Pi

JOB CONTACT

JOB #	EQUIPMENT #	PURCHASE	ORDER NO.		TE	RMS	DUE I	DATE
40248442	27462			1	Net -	30 days	12/03,	/2010
			QTY	U of M	TINU	PRICE	INVOICE	AMOUNT
For Service Date	s: 11/01/2010 to	11/01/2010			,			
				,	1		1	
0040248442			4C	ے۔ کی	37			
171701466A C	ement-New Well Casir	ng/Pi 11/01/2010		1				
5 1/2" Longstri	ng	19/Pi 11/01/2010	/	OF)	NI			
AA2 Cement		2/10	100.00	EA		11.90	5 10	1,190.00 T
60/40 POZ		9 /	50.00			8.40		420.00 T
Celloflake	.*	(p)	25.00	EA		2.59	1.	64.75 T
Defoamer		10/	19.00	EA		2.80		53.20 T
Salt		(b)	454.00			0.35		158.90 T
Cement Friction	Reducer N . N	100	29.00			4.20		121.80 T
Gas-Blok			94.00			3.61		338.87 T
FLA-322 Gilsonite	· · · · · · · · · · · · · · · · · · ·	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \				5.25		246.75 T
	ıg & Baffle - 5 1/2"	$\Lambda_{\rm IV}$	500.00 1.00	20000000		0.47 280.00		234.50 T
Cement Shoe P			1.00	- 10		2,590.00		280.00 2,590.00
Turbolizer - 5 1			5.00			77.00		385.00
Basket - 5 1/2"		1	1.00			203.00	n	203.00
Threadlock Com			1.00			23.80		23.80
Super Flush II	,		500.00	Vit 1900 VV		1.07		535.50 T
Car, Pickup or \	Van Mileage		75.00	MI		2.98		223.13
Heavy Equipmer	nt Mileage		150.00	MI		4.90		735.00
	ulk Delivery Charge		514.00	MI		1.12		575.68
Depth Charge; 5			1.00	4501425094		2,016.00		2,016.00
Security Color Management Color Colo	ng Service Charge		150.00	3 22000000		0.98		147.00
Plug Container (	the first over the second seco		1.00	))		175.00		175.00
Service Supervis	sor Charge		1.00	HR		122.50		122.50
		3						14,000
				.7				
				_		e a		
					77			
1			12					
PLEASE REMIT	TO. CE	ND OTHER CORRES	DONDENCE TO		-			

PLEASE REMIT TO:

SEND OTHER CORRESPONDENCE TO:

BASIC ENERGY SERVICES, LP BASIC ENERGY SERVICES, LP PO BOX 841903 DALLAS, TX 75284-1903

PO BOX 10460 MIDLAND, TX 79702 SUB TOTAL TAX

10,840.38

INVOICE TOTAL

11,085.97



1700 S. Country Estates Rd. P.O. Box 129 Liberal, Kansas 67905 Phone 620-624-2277

# FIELD SERVICE TICKET 1717 01465 A

DATE TICKET NO. 1466

								DATE	HORET NO. T. F. IF	1112			
CP103 (AND DOZ CMT		NEW ☐ OLD □ PROD □ INJ □ WDW □ CUSTOMER WELL ORDER NO.:											
			cere Inc of K	 9		LEASE Alige	wt 13	iouz iden		WELL NO.	8.5		
	1					COUNTY BOY BY STATE KS							
CITY	17.12	ki ki	STATE				-		naday	2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2			
AUTHORIZED B	Y Jer	ry	Bennett I	RB	11	JOB TYPE: 7	1-42	5.5 L			-		
EQUIPMENT	#	HÁS	EQUIPMENT#	HRS	EQ	JIPMENT#	HRS	TRUCK CALL	ED ' PAT	E AM TIN	ME 70		
27462	1	0						ARRIVED AT		The second second			
19959		(n									_		
21010		Ø				-34							
124					1				ATION	/PM 7 ()C			
					1.7 ×						>		
8,12				1 -				MILES FROM	STATION TO WEL	L 157			
become a part of th	pplies ind is contra	ict withou	ut the written consent of an offi	cer of Bas	ic Energy Se	ervices LP.	5	SIGNED: From (WELL OWNE	R, OPERATOR, CONT	TRACTOR OR AC	SENT)		
REF. NO.			14 1	AND SEF	RVICES US	ED			UNIT PRICE	_			
				1. 1.				-			OU		
CP103						THE R.	SK			<del> </del>	20		
CC 102				1	5		lio				20		
CC 105	De f	oawi	er vertillige	1	1		110				00		
CCIII			<u> 10 11 11</u>		+ 1,47		16			227	00		
CC112	CEMA F	out F	Friction Reducer			1,01	16			174	5/2		
CC 115	GOS	bloc	Ki Wa			حي ا	16	1 1			10		
CC 129	<b>井1</b> A	-322					16	-		352	570		
CC 201					and the second s	Ų		500		335	20		
CF 667	Lat	ch d	OWN Plum & BEEL	le .			EA	1		400	00		
CF1001	Cew	100kg	ng Shor Packer	Tupe	10 ≅ .	u.		i		3700	200		
CF1651	TIM	boli	16+ 51/2×71/8	- '		i.		5		550	CC)		
	51/2	ı ba	5 Koh			J.	三五	<b>)</b>	*		(XX)		
(F3000	Thre	nd l	nock that				EA	j			()		
CC 15K	Suc	er C	ush II			·	gal	500		765	$\langle 1 \rangle$		
E 100	CAM	+ 14	is long-	*			/nı'	75		. 2/0	7/5		
	Heau	)u E	amaharal Miles	10.2			MI	150					
PILB	5101	Dan	For Bulk admir	ila 1	Wilfan	E	TM	514		822	ل نب		
C F 306	1300	ith o	Charac Scoll	inboc	i = i		4hrs	į		りとなり	20		
=	EMICAL	/ ACID E	, , . DATA: I						SUB TOTAL	10840	概		
					SE	RVICE & EQUIP	MENT	%TAX	ON\$				
					-	TERIALS			ON \$				
									TOTAL				
	ī									i,	•		

REPRESENTATIVE TALL STORY

THE ABOVE MATERIAL AND SERVICE ORDERED BY CUSTOMER AND RECEIVED BY:

(WELL OWNER OPERATOR CONTRACTOR OR AGENT)

SERVICE



1700 S. Country Estates Rd. P.O. Box 129 Liberal, Kansas 67905 Phone 620-624-2277

TICKET NO.1466A

ITEM/PRICE REF. NO. QUANTITY UNIT PRICE \$ AMOUNT UNIT MATERIAL, EQUIPMENT AND SERVICES USED Blendar & Wiring Charge Plug container utilingatury Service super Vision SK 150 210 00 F 240 25000 Job CF 504 5003



### TREATMENT REPORT

Customer () [ [	Produc	7875 OL	Ks	Lease No.				Date							
Lease Alba						3-3				11-1-10					
Field Order #	Field Order # Station Labera 16 1717									County Car ber State 1/3					
Type Job 2 -	42 5.		strine	( <sub>1</sub>		Formation				Legal De	escription	3413			
PIPE	PIPE DATA PERFORATING DATA					USED			ΓREAT		RESUME				
Casing Size	Tubing Siz	e Shots/F	t	4.	Acid		RATE PRESS			ISIP		9			
Depth 5408	Depth	From	To	)	Pre Pad		Max				5 Min.				
Volume	Volume	From	To	o .	Pad		Min				10 Min.				
Max Press	Max Press	From	То	)	Frac		Avg				15 Min.				
Well Connection	Annulus V		Т	<u> </u>			HHP Use	d .			Annulus	Pressure			
Plug Depth	Packer De	pth From	To		Flush		Gas Volui	me			Total Loa	ıd			
Customer Repr	esentative /	ob Casp			Manager Tev	ry Raine	+	Trea	iter $V$	obert	lox	AV 2021 1 19 424 1 1 1 1 1 2 2 4 4 4 4			
	17462	19959	2,1.010			1									
Driver Names	Tanah														
	Casing Pressure	(Tubing Pressure	Bbls. P		Rate				Servi	ce Log		*			
0200	1 1033410	1 1000010				On Lo									
430			.*		11		Casina	In	10	Hole					
							Shoe E				+ 000	1. 5388	5. 52		
					-	1 1	docu A					2246			
7,52					A-100 MARKETTA TO A	Drop	Ball	(4	ť		ilate	6 1 1			
	300		2:	2	Li ·	Start	500	18	1/100			efore	e All		
724	300		0		4	Stad		0.000		5.3 t					
739	0	11	26	2	0	d 1/00	1								
7112	0		0		4	Staly	HA	(40		o men			38,111,0		
806	200		16	0	4.	Slow	Pat-	e He	5.2	Boin					
806 815 817 837	1000	**************************************	12	01/200	0	Plus	Hou	DM	50	10 00	DAN L	14.00	C55U		
R17	0		0	·	Ò	Kola	75P 1	71105	SG LA	K P	lua t	toldu	م ام		
9 र T	0		9		0	Dlug	Pat	اخ ۱	ило	450	1		1		
900	0		0	)	0	100	d oan	11	1)0!	5h c	10	164 pe told u			
						İ	- XXII XX				7				
			i		TI .										
								-							
	1														
					0										
						4 14	an K	UCX	A						